Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN [ |

(03 Marks)
Define cost of capital. (03 Marks)

What is factoring? (03 Marks)
(03 Marks)
(03 Marks)
(03 Marks)

(03 Marks)

(07 Marks)
Write a note on long term«s;g}urges of funds which can be raised‘w ‘MI‘ndia. (07 Marks)

The balance sheet of d company is as under: .
Liabilities Amt Asset Amt

Equity capital( 60,000 | Fixed Assets | 1,75,000 |«
10% debenture 80,000 | Current assets | 25,000
Retamed -garnings 20,000 '
Current liabilities 40,000

2,00,000 2,00,000

The company‘s total assets turnover is 3 times, its fixed operating cost is Rs. 1 00 OOO and its
variable. opPratmg cost is 40% of sales, tax rate is 40%. Calculate the degree<of fmanc1al

levera‘ e“‘operatmg leverage and combined leverage.
5

T‘heix:i‘ash flows associated with an investment are given below:
Year 0 1 2 3 4 5
-1,00,000 | 25,000 | 40,000 | 50,000 | 40,000 | 30,000
Calculate: i) Payback period,-

ii) Discounted payback period assuming 10% discount rate. (07 Marks)
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5 Anw,eXeeutlve is about to retire at the age of 60 years. His employer has offered hlm WO post
retlrement _options (i) Rs.20,00,000 lumpsum, (ii) Rs. 2,50,000 for 10 years. A:qsummg 10%

interest;’ Whlch is a better option? (07 Marks)

The follo’\xmg d/ata for ‘X’ Ltd for the year ended 2015 is given below:
Profit and Lmss ‘A/C data: (Rs. In millions)
Sales = 80, \(‘ost; of goods sold = 56.

Balanee Sheet Data (Rs. in Millions)

01-01-2015 | 31-12-2015
N 9 12
Accounts reeeivable 12 16
Accounts payable W 7 10
What is the length of the opef: 'ting cycle and the cash cycle” Assume 365 days in a year.
& QW ¢ \ v (07 Marks)
Explain the various factors inﬂu\én@ihg working capita (07 Marks)
: SECTION Koy
Note : Answer any FQUR&‘ estg(m%sfrom Q.No.I to Q.No.7.
What is financial management? Explain the objectlves of financial management. (10 Marks)

The Trish Ltd. needs 50,00,000 for constructlon nt a new plant. The following three financial

plans are feasible. {r

i) The company may issue 50,000 equuy bhares at Rs 100 per share.

ii) The company may issue 25, 000- eQulty shares at’,Rs 100 each and 25000 debentures at
Rs.100 each at 8% interest. Pl Pty

iii) The company may issue 2500@ equity share at Rs;}()‘(}wper share and 25000 preference
shares at Rs.100 each bear"‘ 8% rate of dividend. 2

If the company’s earnings’ efore interest and taxes ar \ff?‘lks 1,00,000, Rs.2,00,000 and

Rs.40,00,000, what are the g frﬁmgs per share under each" of the 3 financial plans. Which

alternative would recommend ‘and why? Assume corporate tax to be 0% (10 Marks)

A company is consml ! g an investment proposal to install new*\mlllmg controls at a cost of
Rs.50,000. The faelh ‘has a life expectancy of 5 years and no salvage Value. The tax rate is
35%. Assume tha “the firm uses SLM of depreciation and the same is alTé\X/ed for tax purpose.

The estimated Cdsh !

; nent proposal are
as follows: _\ \> N

Year 5/ o
Cash flow. bef@re tax | Rs.10,000 | Rs.10,692 | Rs.12,769 | Rs.13,462 Rs.20385°1)
Computer. the tollowing: S
i) Pavback period

ii) , Aecountmg rate of return

111) Net “present value Sy o)
vy P,roﬁtablllty index at 10% discount rate (10 Misrks)

Briefly explain the factors affecting dividend policy of a company. (10 Marks)
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Whlle preparmg a project report on behalf of a client you have collected the follo ng facts.
Estlmate the net working capital required for the project. Add 10% to your com;;»uted?ﬁgure to
allov\ﬂwntmgenmes {

\ Particulars Amt per unit
Estzmated cost per unit of production:
Raw 'naterlal 80
Direct labour 30 ,
Overhead (exclusive of depreciation Rs.10 per unit) 60 (/AN
5 al cost 17()‘2

Additional 1nformat‘1ot \
Selling price Rs.200 per ;mt level of activity 104000 units of, Pr éuetlon p.a., raw materials in
stock, average 4 weeks, ﬁmshed goods in stock average 4 weeks VIP (assume 50% completion
stage in respect of conversion ‘costs and 100% completh\n wrespect of materials), average
2 weeks. Credit allowed by \suppllers average 4 weeke,\credlt allowed to debtors, average
8 weeks lag in payment of wages “average 1.5 weeks, casn\at bank is expected to Rs.25,000.

You may assume that producuon is carried on evei;lly\*hroughout the year (52 weeks) and
wages and overheads accrue similarly, All sales are en credlt basis only. (10 Marks)

Discuss the various risks associated Wlth n asset \’ (10 Marks)

(10 Marks)

Describe the functions of primary and secor J«market

J

SECTION D
)Y | ‘OYmpulsory]

As a financial analyst of a large electrehkcs company, you are required to determine the WACC
of company using (i) book value welght and (i)~ market value weights. The following
information is available for your, perasa] The company’s’ ‘esent book value structure is:
Debenture (Rs.100 per debenture) Rs:8;00,000
Preference sba? ;S;(Rs 100 per share) | Rs. ;00,000
Equity shareS (Rs/10 per share) Rs.10,00.000
<)) Rs. 20,00,000
All these securities are. traded in the capital markets. Recent price ‘are: debentures Rs.110 per
debentures, preferenc hare Rs.120 per share and equity shares Rs:22- per” share
Anticipated external pcmg opportunities are: ‘
i) Rs.100 per debenture redeemable at par, 10 years to mature 1 ]% goupon rate, 4% floation
costs, sales pnce Rs.100. o
ii) Rs.100 preference share redeemable at par; 10 years to mature, 12% ;dend rate, 5%
ﬂoatlon costs, ales price Rs.100. 5
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